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Which of the following is included in a memory dump file?

A. Security ID

B. List of loaded drivers

C. The kernel-mode call stack for the thread that stopped the process from execution
D. Stop message and its parameters

Answer: B,C,D

Which of the following Acts enacted in United States amends Civil Rights Act of 1964, providing technical
changes affecting the length of time allowed to challenge unlawful seniority provisions, to sue the
federal government for discrimination and to bring age discrimination claims?

A. Sexual Predators Act

B. Civil Rights Act of 1991

C. PROTECT Act

D. The USA Patriot Act of 2001

Answer: B

Which of the following Linux file systems is a journaled file system?

A. ext3
B. ext4
C. ext2
D. ext

Answer: A
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Which of the following files starts the initialization process in booting sequence of the Linux operating
system?

A. /etc/sbin/init

B. /etc/inittab

C. /etc/rc/re.local
D. /etc/rc/rc.sysinit

Answer: A

Your Windows XP hard drive has 2 partitions. The system partition is NTFS and the other is FAT. You wish
to encrypt a folder created on the system partition for the purpose of data security. Which of the
following statements is true about this situation?

A. You can only encrypt files on the NTFS partition.
B. You can only encrypt files on the FAT partition.

C. Since the operating system is on the NTFS partition, you can encrypt files on both.
D. You cannot encrypt files on either partition.

Answer: A

Which of the following files in LILO booting process of Linux operating system stores the location of
Kernel on the hard drive?

A. /boot/map
B. /boot/boot.b
C. /etc/lilo.conf
D. /sbin/lilo

Answer: A

You work as a Network Administrator for Net World International. Rick, a Sales Manager, complains that
his Windows 98 computer is not displaying the taskbar. You reboot his computer and find that the
taskbar is still missing. How will you resolve the issue?

A. Replace WIN.INI from backup.
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B. Copy the registry from backup.

C. Use Registry Editor to delete the following registry key:
HKEY_CURRENT_USERSoftwareMicrosoftWindowsCurrentVersionExplorerStuckRects
D. Reinstall Windows 98 on Rick's computer.

Answer: D
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